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Ex. 1. Given f(x) =l, g(x)=sinx and A(x)=2x> —5x+2 find:
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Ex. 2. Find the points of intersection of the curves f(x)=cosx and g(x)=cos2x for 0<x < 27[
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Two real-valued functions f'and g can be combined to form new functions

f+g , f—g, fg and g in a manner similar to the way we add, subtract,

multiply and divided real numbers.

Operations on Functions

Let the domain of f be A and the domain of g be B.

Addition (f+2)x)=f(x)+g(x) Domain = AN B

Subtraction (f —g)(x)= f(x)—g(x) Domain = AN B

Multiplication (fg)(x) = f(x)g(x) Domain = AN B

Division (f]( )=—-= Sx) D:{xeAmB|g(x)¢O}
g g(x)

Ex. 1. Use the graphs of fand g to determine the following.
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Ex.2. If f(x)=x+3 and g(x)=x’+8x+15 determine each of the following. Dj {oeRe
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Ex.3. If f(x)=v9-x" and g(x)=+/x+3, determine the following.
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Date: \Ne C |k>/ | L” COMBINING FUNCTIONS USING ALGEBRA continued

Two real-valued functions f'and g can be combined to form new functions

frg . f-g.f andﬁ

multiply and divided real numbers.

in a manner similar to the way we add, subtract,

Operations on Functions

Addition
Subtraction
Multiplication

Division

Let the domain of f be A and the domain of g be B.
(f +2)x) = f(x)+gx)

(f =8)(x) = f(x) - g(x)
(f2)(x) = f(x)g(x)
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Ex.2. If f(x)=4"" and g(x)=3(2)>", determine the following

a) the domain of f
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For Unit 7 Test: do Day 7 Unit 7: Review #1 to 7



